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Answers

1. C

2. C

3. D

4. C

5. D

6. C

7. D

8. D

9. C

10. A

11. C

12. B

13. C

14. A

15. C

Solve each problem.

1) Which choice is a
multiple of 9?

A. 104

B. 155

C. 99

D. 152

2) Which choice is a
multiple of 9?

A. 104

B. 118

C. 99

D. 176

3) Which choice is a
multiple of 9?

A. 123

B. 183

C. 110

D. 144

4) Which choice is a
multiple of 2?

A. 33

B. 27

C. 28

D. 23

5) Which choice is a
multiple of 6?

A. 75

B. 92

C. 115

D. 120

6) Which choice is a
multiple of 5?

A. 88

B. 66

C. 80

D. 83

7) Which choice is a
multiple of 10?

A. 149

B. 206

C. 138

D. 170

8) Which choice is a
multiple of 10?

A. 166

B. 123

C. 168

D. 120

9) Which choice is a
multiple of 5?

A. 97

B. 59

C. 75

D. 99

10) Which choice is a
multiple of 2?

A. 38

B. 31

C. 25

D. 39

11) Which choice is a
multiple of 2?

A. 25

B. 41

C. 28

D. 31

12) Which choice is a
multiple of 6?

A. 68

B. 102

C. 107

D. 106

13) Which choice is a
multiple of 3?

A. 62

B. 43

C. 54

D. 50

14) Which choice is a
multiple of 10?

A. 180

B. 208

C. 126

D. 167

15) Which choice is a
multiple of 3?

A. 34

B. 56

C. 60

D. 40
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